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Date Geometry CC
Midterm Review #1

1. Using a compass and straightedge, construct the angle bisector of ZABC shown below. [Leave all construction
marks.]

0

2. In AABC, mZA=3x+1, mLEB = 4x— 17, and msC = 5x —20. Which type of triangle is A4ABC?
1) right

2) scalene
3) isosceles
4) equilateral

3. Determine the scale factor of the given dilation from point O?

-

4. In the diagram of AABC and ADEF below, AB = DE, ZA= £D, and £B= /E.

A F
D
© B
E
Which method can be used to prove AABC = ADEF?
1) SSS
2) SAS
3) ASA
4y HL



5. If the image of A after a dilation of -2 is A'(-8,6), what are the coordinates of A7 D) ta‘hion Ce\ﬂ‘kr(d ot ovt 9 v
1) (4, "'3)
2) (-4,3).
3) (16,-12)
4) (-16,12)

6. Find the coordinates of the image of (2,4) under the transformation ry=5° T<3, 5>

7. A quadrilateral whose diagonals bisect each other and are perpendicular is a
1) rhombus
2) rectangle
3) trapezoid
4) parallelogram

8. The vertices of ARST are R(-6,5), 5(-7,-2), and 7(1,4). The image of ARST after the composition 7_, 5 L

ARS"T", State the coordinates of AR'S"T". [The use of the set of axes below is optional.]
y

3

-+ tat

3

\
9. What is the resulting translation when a figure is reflected r y -4 ry=7? SBB. :

10. As shown in the diagram below, AABC ~ ADEF, AB="T7x, BC=4, DE=7 and EF =x.

What is the length of AB? A
1) 28 D
2) 2
3) 14
4 4 7x
7
B 4 c E  x F



11.

12.

13

In thombus ABCD, with diagonals AC and DB, AD =10,

D 10 A

c 2

If the length of diagonal AC is 12, what is the length of DB?
1) 8
2) 16
3) f44
4) J136

In the diagram of AA4BC below, AB is extended to point D.

If mACAB=x+ 40, mLACB = 3x + 10, m/ CBD = 6x, what is m<£ CAB?

. True or False: A translation may have invariant points.

14. Given: PROE is a thombus, SEQ, PEV, ZSPR= ZVOR

15

Prove: SE = EV v

5 E/\O

g o

. Given: AABC, BD bisects ZABC, BD 1 AC
Prove: AB = CB ¢




16. State which type of symmetry each figure has (rotational, reflectional)

{/ R Aond
\); 8 O %ﬁbwiﬂe%vg&

17. In the diagram of trapezoid ABCD below, AB I DC, AD = BC, mZA = 4x+20, and m£C = 3x - 15,

A B
(4x + 20)°
(3% —15)°
D c

What is m£D?

18. Determine the two transformations that map 4 LKO onto A BCO.,

b
{ A
{ &
¥1
b2
[
H
i L. i
i .\ % I
S 5 i\\ ’ I,
NN i : -y
Tl ] 2 B 2 KT
E =y
B
3
-
-4
&
i 5
&
i iy
19, Quadrilateral 4BCD with diagonals 4C and BD is 20. . Which set of statements would describe a
- shown in the diagram below. parallelogram that can always be classified as a
5 _ thombrs?
G I Diagonals are perpendicular bisectors of
each other.
. Diagonals bisect the angles from which
they are drawn.
A o II. Diagonals form four congruent isosceles
. ight triangles.
Which information ts not enough to prove A2CD is if)g I alnqggnes
a parallelogram? 2) TandIO
1) 4B= CDandE”D_C— 3) Hand M

2) 4B=CDandBC=zD4 4) LILandIT
3) AB=CDandBC [|4D
4) 4B|DCandBC | 4D
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[} After a(.nmposltmn of tmnefonmtmns thc COOldm'lfLS 11(4 2) B(ei 6}, -md t(2 ()hecmre 1"(—2 -1, B (—2,-3) and C#(-1,-3), as
shown on 111c HLt of"wu, bc.!ow

(3]

A
Vo

[#2]

7

What composition af trans formations was used? (Dl\a.’h oNs + Ro‘b:h s Ce]f}-l_'r{[{ at O‘fi\glﬂ 5

A) Rygge© Dy B) D1°Rigpe Q) D19Rgge D) Rgpe oD,
2 2
2) Inisosceles triangle ABC, A8 = BC. Which statement will always be twe?
&) mid=meC B) miC<mB C) med>meB D) meB=msd
3} Inthe dingrambelow of AAGE and AOLD, £LGAE = £LOD, and AE = 0D.
G L
{ 1
A ! E O ' D

To prove that A4GE and AOLD are congruent by SAS, what other information is needed?
A) £AGE=20LD B AG=0L C} 1AEG=L0DL D) GE=1LD

l

o1



4

5)

7

Based on the diagrambelow, which of the following staterents is true?

a. b

&
_110¢ 115%
¥ 80° / >d
/ / /
!'/ .
< » e
/ 120° 4
A) bie B ale Cy alld D)y die
In the diagram below of parallelogrami STUV, SV =x +3, FU=2x - Land TU=4x~- 3.
4
u
S
T
What is the length of S¥7
A) 4 B 7 c) 2 D) 5
IFAABC ~ AZXY, meAd =50°, and mZC = 30°, what is m2X?
Ay 30° B) 80° C) 1tooe D) 50°

1960-1-Page 2

In the diagram below, the length of the legs AC and BC of right triangle ABC are 6 cmand 8 em, respectively. Altitude CDis

drawn to the hypotenuse of AABC.

A
X
D
6 cm \
C 8 cm B

“What is the length of 4D to the nearest tenth of a centimeter?
A) 4.0 ) 3.6 Q) 64 Dy 60
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8) In the diagram below of panallelogram 48CD with diagonals AC and 8D, me.1=45° and me.DCB = 120°.

A 2]

What is the measure of 227
A) 60° B) 30° C) 45° D) 15°
9 The pentagon in ithe diagram below is formed by five rays.
Sum oF (interior angles
of o polygon
found Using
Hormuta

190 (#oF<ides -2)

¥

What is the degree measure of angle x7

A) 108° B) 96° 0 112° D) 72°
10)  What is the image of point A(4,2} aftcr the composition of transformations defined by Rgq0 © '}:=.\~? (Qo—fu‘h (M Ceﬂ“kf'fd at

A 42) B (42 0 @) D) (4 oGy
11) In the dingramoF AABC and ADEF below, AB = DE, 24 = £D, and £B = LE.

A E
D
c B
E
Which method can be used to prove A4BC = ADEF?
A) L ) 558 Y ASA D} SAS



12) In the diagrambelow of AACD, Eis a‘point on 4D and B is a point on 4T, such that EB | DC. IEAE=3, ED =6, and DC =15,
find the length of EB. [Show all work.] '

. C

o

13)  In the diagram below, quadcilateral STAR is a thombus with diagonals 54 and TR intersecting at E. $T'=3x + 30, SR =8¢ - 5,
SE=3z TE =5z+5,AE=4z— 8 mRTA =(5p- 2)°,and meTAS = (9p + 8)°. Find SR, RT, and e TAS. [Show all work.]

) 3x+ 30 T

{6y - 2)°

(9y + 8)°




14)

a) 7, (D) = o) h(E)=
or(G)=___ agr(___)=H
N IMUMN
15) What is theﬁngle of rotational symmetry -%r O r'gg LLW de(_‘ o gom 7
a) 18° b) 36° c} 45° d) 72°

16) Perform the following construction

D,..(A4BC)

17) 1f OB bisects < DOG,and < DOB = 44° then the m < FOD =

1) 88 2) 92 3) 44 4) 180
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Midterm Review #3

1. Using a compass and straightedge, construct an equilateral triangle with AB as a side. Using this triangle,
construct a 30° angle with 1ts vertex at A. [Leave all construction marks. ]

A B
2. This shape has:
1) Only Rotational Symmetry : 2) Only Reflectional Symmetry
3) Both Rotational & Reflectional Symmetries 4) Neither symmetry

3. Determine the scale factor of the given dilation from point O?

-

B -~
B .-\ u
T
o C' h"‘c'-"—,

4. Inthe diagram of A4ABC and ADEF below, BC = EF, ZA= £D,and £B= ZE.
Which method can be used to prove AABC = ADEF?

A =
1) AAS
2) SAS | ‘ 5
3) ASA
4) HL
C B
£

5. If the image of A after a dilation of % is A'(—2,3), what are the coordinates of A? Co-
) (1,15 (condered ot Of:Stw)
2) (-4,6)
3) (4,6)
4) (1,-1.5)



. A double reflection over y = -3 followed by y = -1, translates all points:
1) up 4 units (D

2) down 4 units ‘.S/L-L’

3) up 8§ units

4) down 8 units

. Which figure does not always have congrent diagonals?

1) square

2) rhombus

3) rectangle

4) isosceles trapezoid

. The coordinates of AJRB are J(1,-2), R(-3,6), and B(4,5). State the coordinates of the vertices of its image
after the transformation 751 © 7y-axis?

9. What is the image of point (1,1) under 7y.axis © R 0, 90°7

1) (LD
2) (1,-1)
3) (1L,1)
4) ('1"1)

10. In the diagram of AABC: AFB, AEC AC 1| CB, AE L ER ,BF=8,FA =12, FE=9, and BC = x. What

is the value of x?

A

1) 3
2) 5.4
3) 6

4 15

B X C
11. In thombus ABCD, with diagonals AC and DB, If the length of diagonal AC is 10 and the length of
diagonal DB is 24, what is the perimeter of ABCD?

1) 26
2) 104
3) 13
4) 52



12. In AABC, m£A=3x+1, mZB=4x-17, and mZC = 5x - 20. Which type of triangle is AABC?

1) right

2) scalene
3) isosceles
4) equilateral

13. True or False: A rotation may have invariant points.

14. In the diagram below, AABC is shown with AC extended through point D.

Ifm/BCD=6x+2, m/BAC=3x+15, and mZABC = 2x— 1, what is the value of x?
1) 12 B

2) 1410

3) 16 _
4 gl A
185

o

15. In the diagram of trapezoid ABCD below, AB || DC, AD= BC,m < A = 12x — 4, andm < € = §fx¢

D C
Find: x m<B m<D

16. Determine two similarity transformations that would map Quad. OKBC onto Quad. OHTR.
y

b 4

followed by

17. Given: AABC, BD bisects AC, BD L AC
Prove< C =< A




18. | A CED as shown below, points 4 and B are 19. I_n:dm diagram below, ABCD ix a paralielogram,
located on sides CF and ED, respectively. Line AB is extended through B0 E, and CE is drawn:

segment 4B is drawn such that AE =375, 4C =5, 0 c

EB =45 and BD = 4. ‘ / : /\

A B E

IfCE = BE andm/D = 112°, what is msE?
1) 44°
2 560
3 6%
4 112°

Explain why AB is parallel to CD.

20 Using the information given below, which setof
2 In paralielogram ABCD, diagouals AC and BD 21. friangles can not be proven simular?
intersect at B Which statement does not prove

paralleloprant ABCD is a rhombus?
1) AC=DB
2) AB=BC
3) AC.LDB
4) AC bisects ZDCB
1)
22.
Triangles RST and XYZ are drawn below. If
RS=6,ST=14, X¥=9, ¥Z=21,and £S5 = /T, is
ARST similar to AXF¥Z7? Tustify your answer. 2
%
3)
4)




23.  Oun the graph below, point A(3,4) and BC with
coordinates B(4, 3) and C(2,1) are graphed.

¥

E

&
o
¥

¥

What are the coordinates of B’ and €’ after BC
undergoes a dilation centered at point A with a
scale factor of 27 ‘

1) B'(5,2) and C'(1,-2)

2} B'(6,1) and C'(0,-1)

3 B'(50)and C'(1,-2)

4y B'(5,2) and C'(3,0)

25.

The image of A ABC after a dilation of scale factor

i centered at point 4 is AADE, as shown in the
diagram below.

A

D
Which statement 1s always true?
) 24B=4D
2) AD1DE
3) AC=CE
4y BC|DE

24. The grid below shows A4BC and A DEF.

X

X

A
Vi

9

Let AA4'B'C" be the image of A4BC aftera
rotation about point 4. Determine and state the
location of B'if the location of point € is (8,-3).
Explain your answer. Is A DEF congruent to

A A'B'C'? Explain your answer.

26.

In the diagram below, A4BC = ADEF.

/

Which sequence of transformations maps A ABC
onto ADEF?

1)
2)
3)
9

| b

a reflection over the x-axis followed by a
translation

a reflection over the y-axis followed by a
translation

a rotation of 180° about the origin followed by
a translation

a counterclockwise rotation of 90° about the
origin followed by a translation
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1)  Line » intersects lines £ and m, forming the angles shown in the diagram below,

n

(6x + 42)°, I

< / (18x~ 12)° 771

Which valve of x would prove £ Il m?
A) 45 B) 8.75 C) 2.5 - D) 625

2)  Asshown in the diagram bcIow,E bisects LBAD and £B = /D.

B D

A

Which method could be used to prove AABC = AADC?
A} SAS B) AAS C) AAA : D) SsSS

3)  Inparalielogram ABCD, mo/B = (4x +4)° and meD = (74 - x)°. Find m/C.



7399 - 1 - Page 2
4)  Which expression best describes the transformation shown in the diagram below?

A
¥

“-_/

—71B'(7,-3)

A

A'(5,-6)

A) same orientation; reflection i\ 1ing C) opposite orientation; transtation
B) opposite orientation; reflection 1 1ine. D) same orientation; translation

5)  Asshownin the diagram below, the diagonals of parallelogram QRST intersect at E. If OF = x2 + ox,
SE=x+ 14, and TE = 6x — 1, determine TF algebraically. [Show all work.]

0)  Ifthe vertex angles of two isosceles triangles are congruent, then the triangles must be
A) acute B) - right C) similar D} congruent

7)  Inisosceles triangle DOG, the measure of the vertex angle is three times the measure of one of the base angles.
Which statement about ADOG is true?

A} ADOG is a right triange. C) ADOG is an obtuge triangle.
B) ADOG is an acute triangle. D) ADOG is a scalene triangle.

|



8)

9)

10)

11)

‘ 7399 - 1 - Page 3
What is the image of A(8,2) under Rgpe? (Cffﬂvk red ot or g V\\

A) (-8.2) By (-2,8) C (6-2) D) 28

In the accompanying diagram, ABC I DE, m/FDE = 25° > MZDFE=130°, and mZABD = x°,

What is the value of x?

In the diagram below, AABC = ADEF,

A BD E

Complete the statement ZDFE = 2,
A) £LCAB B) ZCBA C) £ABC D) ZACB

Right triangle ABC has a right angle at C, altitude CDis drawn, AC = 10, and AB = 20, What is the length of
AD?
A) 2 B) 40 C) V200 D)y 5

\ T
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12)  Inthe diagram below of AADE, B is a point onAE and Cisa point onAD such that BC | E, AC=x-13,
BE=120,48=16, and AD = 2x + 2, Find the length of 4C. {Show all work.]

A

13) Inthe diagram below, PQRS is a thombus with diagonalsf’i and S_Q—

S R

N
LN

P Q

IfmLSPQ = (8x - 14)° and ma1 = (3x + 3)°, find the value of x.



\,;“m{mum 5
14) What is the’%mgle of rotational synnnetry*ﬁ)r o Rﬁ"xju,l ar i)&’\“"ﬂ-gdﬂ :

1) 120 2) 72 3) 90 4) 108

15) If AB bisects ZCAF, and mZCAB= 54°, then the
mLDAC =

1)27° 2) 54° 3)72°  4)108°

16) Determine the name of the point that meets the given conditions.

a) r,(B)=___ D)rrc(C)=_
orA)=_ drp(  )=C
er,D)y=__ Dun.B®=_____

17) Use a compass and a straightedge to construct D,.; (AADB)



